FINAL EXAM Tuesday, Mar. 16 NAME:

Note: Just because a formula or theorem is given here, does not mean that it is necessary for any of the
given problems. Use these as needed only.

INTEGRATION FORMULAS:

f—v‘l;bxd:v = 2Va+br+af ﬁdw

f 1 dx 2(3bz—2a)(a+bx)>/?
zva+tbx - 1502

[Va?+a2de = 3 [zva®+a®+a’log|e+ Va? £ a?]

fmte = (@) >0
i a2-1+—m2dx = Ltan (%) (a>0)
J \/a_21+m2‘d$ = log (z+Va?+a?) = sinh ™" (2) (a>0)

INTEGRAL THEOREMS:

[ Jw (V-F)dV = [ [owF-ds, Gauss’s Divergence Theorem
[ Js(V xF)-dS = [y5F-ds, Stokes’s Theorem
[ Jop F -nds = [ [,V -FdA, Divergence Theorem in the Plane
Area inside of the closed path C = % /. o+ rdy — ydz, Area derived from Green’s Theorem
Pdx + Qdy = 99 _ op dxdy. Green’s Theorem
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